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When searching for the start of a flow event
Ts = current temperature
T2 = temperature after Ts
T1 = temperature prior to Ts
To = temperature prior to T1
When searching for the end of a flow event
Te = current temperature
Ts = temperature after Te
T4 = temperature prior to Te
T3 = temperature prior to Ts
Algorithm:
Status = no flow event
For each temperature in records do:
If status = no flow event then:
read Ts, To, T1, T2
If ATo> 0 and AT12 0 and AT22 0 and T2 — To > max(ATo, ATi, ATz) then:
Status = flow event
Continue and go to next temperature
If status = flow event then:
read Te, T3, T4, T5
If AT3<0 and AT4+<0 and AT5< 0 and Ts — Ts < min(ATs, AT, ATs) then:
Status = no flow event

Figure S1. Flow/flushing event algorithm.




